S5 FEBERAHRERRR (M6F4 8 1HEMA)

F1IREE BAT A

£1RER £2 RER BiE Bax

HEBX 5 SREH | AKER  ZREK | AKRER | SREXR | AKBEK (%)

(A) (B) (A)/(B)
THREBE K 9 6 4 3.0
AR K 0 - - -
AR K - BHERRE 0 - - -
R fEEE KFEEALE 2 1 1 2.0
(R EEE KHEILE - BERRE 0 - - -
REHH AR 6 5 2 6.0
EoREE Bf A

£ 1RAR B2 RAR RiHER Baw

RERX TERER | AKER | SRER | AKREHR | SBRER | OKEXR ()

(A) (B) (A)/(B)
TR KFE - BHRRE 9 7 3 3.0
AR K 0 - - -
A KFE - BHRRE 0 - - .
(R 2B KHEALE - BERRE 0 - - -
HeEit KPR 1 1 - -
HEwit KHEILE - BERRE 0 - - -
EEpEL KPR 4 3 2 2.0
NEXEEPIE BRERE 2 2 1 2.0
TR Bk 2 2 1 2.0




S5 FEBERAHRERRR (M6F4 8 1HEMA)

BIREE B A

£ 18R £2 RER B Ba%

HERX 5 HEAS SREH | AKER  ZREK | AKRER | SREXR | AKBEK (%)

(A) (B) (A)/(B)
AR K 2 N2 0 - - - -
AR KFE - BHRRE 1 AR2EE 0 - - . -
RBEHG FRRZERE 2ANRRE 3 3 2 1 -
HAEit KPR - BBERE 1 AR2EE 0 - - . -
& % BT A

B 1RAR B2 RAR R B

HEAS TERER | AKRER | SRER | AKREHR | SBRER | OKEXR ()

(A) (B) (A)/(B)
A 1 AR2EE 0 - - . -
HaE L 1 AR2EE 0 - - - -
HeEit - WS ERE 1 AR2EE 0 - - . -
NEXEEPE 1 AR2EE 0 - - - -
TR 1ANRE 0 - - ] _




